Sanity-Check for WIND.nc

20

18

- 16

- 14

-12

10

Var: WIND
WIND min WIND max
[Fn: 2.75e-02 [Fn: 2.20e+00
400 Umax: 3.37e+! 400 qmax: 3.29¢
mean: 7.62e%%‘ mean: 1.32&
Jstd: 3.96e-01 1.6 {std: 3.10e+00
ez, ez
gq_>U: b.cs5e- ! q_50: 1.31e+ o
300 {q 98 1.80e+00-;r§. - 1.4 300 {q_98: 2.03e+01 i
wr;’j\ e
250 - T r 1.2 250 -
200 1 1.0 200 1
150 - 0.8 150 -
100 A 0.6 100 A
50 43¢ 0-4 50
6
0 Ta= S = R 0 .
0 100 200 400 0 100 200 300 400
WIND mean WIND mean - distribution
min: 8.21e-01
400 max: 1.10e+ 3
mean: 5.256‘%6 10°
Jstd: 1.22e+00 ]
350 q_2: 2.90e+00
q_50: 5.14e+00
300 4q_98: 8.28e+00°% o
c
250 o
>
200 o
o
Y
i o
150 #
100 - 107 -
504
0




